


(© ‘What
(D) None of the aboye
18, Which commands are Pfﬂ*ﬂﬁ;’m Quick A
(A) Save
(€) Redo

14, Which of the following is an examﬂb;r?dii@m-“”‘ ntation i

(A) Landscape
(C) Superscript

15. To Select all the text in MS Word document by :

(A) Ctrl+5

©) Ctrl+A
Pachavellam Typist

16. The name of & word document displays in

(A) Ribbon
(C) Status bar
17. What ,i_g-ﬁi'-h'é%hartcuc key for “Find and Replace” dialog box;ff
@ Cul+F ® Ot
18, What is the shorteut key for «Paste” in MS Word?
(A) Ctrl +V fﬁ) Ctr
(©) Ctrl + S ?(B) Ctrl -

ich enables us to send the same letter to au

19. InMS Word, wh :
(A) Mail merge bl
®

() Both (&) and (®
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5 - sallv 18 known as -
51. The ribbon starts to move from one spool to another spool automatically 15 kno

(A) Reverse movement
(B) Automatic movement
(C) Automatic Reverse movement

(D) All of the above

52. The expanded form of EFTS:
(A) European Free Trade System

(B) Electronic Free Treasury System

.9

(C) European Federal Temporary System

(D) Electronic Fund Transfer System

53. When the variable line spacer 1is used, the contact between the cylinder ratchet and the
cylinder is ceased.
The above statement shows that Variable line spacer 18

(A) used to cease the cylinder
(B) used torotate 1I1E§%h@c¥e"am TypISt

(C) Both (A) and (B) are correct

(D) Both (A) and (B) are false

54. The figure 370 is written in Roman Numerals as :

(A) CDXX (B) LLLDXX
(@) CCCLXX (D) CCXLL

55. Malayalam Typewriter was introduced by :
(A) K.N. Panicker (B) Kerala Government

(C) R. Arulappan (D) N.S. Pandala

36. Rhythmic touch method is also known as :
(4)  Sight method (B) Staccoto method
(C) Legato method (D) All of the above
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74. ldentify the sentence which is in the passive voice :
(A)  He has reserved his seat on the bus
(B) They had finished only half the work
(C) Let him be invited to the party
(D) I shall inform them of this

75. Choose the appropriate question tag :
He chose a book, —— 9
(A) Did he? (B) Isn't he?
(C) Didn't he? (D) Won't he?

76. W’ould you mind ———— your car from the way?
(A) move (B) moves

(C) moved (D) moving

77. In the following sentence, supply a verb in agreement with its subject :

Either the casts or the director ———— responsible.

(A) was Pachavellam Typist B) were
(C) are (D) am '
F o
78. Mr. Bean saw a ———— of keys lying on the floor. A
(A) flock (B) group
(C) bunch : (D) bundle
79. You must get some more questions, You can’t complete your project.
(A) whereas (B) otherwise
(C) however (D) moreover

e
i

80. | 1f I had known that you were coming, :

) I'would have prepared your favourite dishes

(B) Iwould receive you at the railway station
(C) Iwill take you to some important destination
(D) Iwould agk you to bring some sweets
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